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1.  Mrs Samuels drives 217 miles each day. If her car travels 6.2 miles to  

     the litre, how many litres of petrol will she need each day? 

 

 

 

 

 

 

 

 

 

 

2.  Mick has 416 stamps, Josh has 656, Petra has 778. How many  

     do they have altogether?  

 

 

 

 

 

 

 

 

 

 

 

3.  186 children go ten-pin bowling. If there are six spaces on each lane,  

       how many lanes will they need altogether?  

 

 

 
 

 

 

 

 

 

 

 

 
 
 

Work out each problem and then fill in the table. 

Operation:     
Method:  

How:  

Answer:  

Operation:     
Method:  

How:  

Answer:  

Operation:     
Method:  

How:  

Answer:  
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1.  ÷,  35 litres 

2.  +,  1 850 stamps  

3.  ÷,  31 lanes 

 


